


WARM UP U3 DAY 3§

Solve for the points of intersections.
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GRAPHING A QUADRATIC EQUATION

REVIEW

= The anatomy of a parabola:

Gl \=© ‘

Ny G
Zeros, Root;:i'SolutionSé?-

k End Behavior:

and describe

( ‘intercepts . .
o) penk(-30) ¢ what is happening
5% - forbothxandy
Vertex o\ A g e
P\ L Asddes i g0n doun
ﬁ 2 3 4 s 6
y-intexcept — [0 : """"""""""""""""
56" X;O ..l,_z .............................
|
......................... 3 2
Axis of Symme —4

)

Decreasing
Interval (— }, &O)

€
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GREPHING QUBDRATICS

Step 1: Find the axis of symmetry ¥ = ——
Step 2: Substitute the a.o.s.infor x to find y

Step 3: Plot the vertex (a.o.s., y found)
MaKe dabole it Vectey  a m. Jé\

e (ol Yo Cind Tpts  alge
76t e low

Step 5: Reflect this point over the a.o.s
Step 6: Draw a curve through your three points!
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GRAPHING A PARABOLA

Finding the zeros, roots, solutions, and

x-intercepts:

7‘\//“ Solve the equation by factoring.
N\ / — 0
y=X"—6X+8
O = Xt=lx +{
Solutions:
x=4,x=2 x-intercepts:

(4,0), (2, 0)
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GRAPHING A PARABOLA

= Find the y-intercept of the quadratic.

—

y=X>—6X+8

y-intercept:
0, 8)
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GRAPHING A PARABOLA

= Find the axis of symmetry of the quadratic.

y =X —06X+38
Hint —b b _
X=—— N

2a 2 (1)
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GRAPHING 1{ PARABOLA

= Solving for the vertex

y=X>—6X+8
7<//3
V=(3) = L(3)+5

\//

= |

e
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GRAPHING A PARABOLA
: Eael’:felr.mine if the parabola has @ or @d the

y <% —6x+8

;/V)Ay( or Mo
S ALw Ay g
the il @

ok Vot ek @

Minimum, -1
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GRAPHING A PARABOLA

= Determine the end behavior of the graph
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PUT IT ALL TOCETHER T0 GRAPH

i 2
5
4
. Vertex:
| Domain:
- L IR
-6 -5 -4 -3 -2 10 1 2 3 4 5 6 Range:

Increasing Interval:

4 Decreasing Interval:

End Behavior:




= For the equation y@ind the:
O

= 1. s:g_lution 2. Xx-intercepts 3. y—inte%%_’épq

O:ﬂjwf}l <3 D) (1,0 J=() = Ufo) 43
e 010

5. vertex 6. max/mi
)< - Z \/// ('Z,')’l, L(CZ)/H @ A~ ~
= 7. Graph: @ [\ U

1

. Domain: (,&/ /007

; Range: E l /OO)

i . *}Incre(asing nterval:

o2

g8 @ | creasing Interval:
1 -\ O l/L\
Lo 4 . End Behavior:

1
|
J
|
|
\
|
|
|
|
|
|
|

: ;/\U [@ﬂ,vp
. gt vy

YV

L
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= For the equation y =-2x? + 2x + 12 find the:

= 1. solution 2. x-intercepts 3. y-intercept s

0 =-H' ™AL 4= - 2N+ 2(s)+1

| =12 @
=4, AOS 7 5. vertex 6. max/min
— \ (8
IR O L
26 2LY) 7 y

= 7. Graph: Zh

Domain:

Range:

Increasing Interval:
Decreasing Interval:

End Behavior:



Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant



= For the equation y = 15x% + x find the:

= 1. solution
O = 5N D 0=X(15+1) (0:0)

|=
=P

-\4. lOS
XZ%: /30

= 7. Gra

@
PiL:

2. Xx-intercepts

Cl//s , DB

5. vertex

J

3. y-intercept
\/~_—] 5/0>? 40

6. max/min

Domain:

* ‘ ’
|

Range:
Increasing Interval:
Decreasing Interval:

End Behavior:

4
{
>

L
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= For the equation

= ]. solution

2. x-int

y=4x%2-9 find the:

3. y-intercept — O

. Domain:

| ‘I%mge:

. Increasing Interval:
' Decreasing Interval:

' End Behavior:
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= For the equation@ 2x? + 3x + 1 find the:

= 1. solution 2.\ x-intex
“”’, O=Zx U3+ e

- 2&+ ) (s

3. y-intercept

\/’Z(o> +3’Zo @

6ma

= 7. Graph:
| - Domain:
-L | T ] [
o) (% T T[] ' Range:
e L] gy ) |
/y /7 i__,_____\ ‘ i}:reasing Interval:
o || Teache 111
i / (o —t—t—t—1 - Decreasing Interval:
r Note:
Use if T 1| End Behavior:
needed |
(\V
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LET’S SEE WHERE QUADRATICS COME INTO
PLAY IN THE REAL WORLD...



https://www.youtube.com/watch?v=lbMir1UAO4I
https://www.youtube.com/watch?v=ReHwNtoRMrY
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